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1. Simplify { __—@(%—;2%: X Z‘_X’g
3x2 \ 7
(557 3

2. Solve for x.
3(x+2)—4(3x—-7) =16

3X+b - l2x+28=1l
W=y,

“7X=%8
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. Solve x~3 - l X—%=~
3 ésll)lc—3|=7 ‘\.

4. Solve
3(x—2)<18

3X-bs1B

L.
3K €24
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5. Peter’s average on his first 3 exams
was 80. What will be his average if
he get 92 on his next exam?

S"‘MC?) =803 Sw,\@: 240t92.

=240

=332

LTNCEY

6. InStore S, Isabelle bought a bag for
$27, including 8% sales tax. What
was the original price?

LogP=27
.09 (0%

=25
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7. Solve A ’2-(_4' :®
3(x +2)% = 48 X=-2 ¥4

( XJ«z)z:\ b \"2“’@@

2= 14




